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Multiple Choice Questions (4 points each):

Use the following graph to answer questions 1 through 4.
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K 50
B 40
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1, What is the total fixed cost?

a) 320 k/\*:C ’B‘*C) _
b) 240 4OOC ~Te=TFC
\ 220 = €0

c) 400
dso
e) Cannot be determined with the given information

2. The firm (whose cost structure is given above) is indifferent between producing and not producing in
the short run. The DEMAND line passes through:

a)E
OF
c) F
d)A
e) Cannot be determined with the given information
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3. If firm chooses to produce, what is the per unit fixed cost (AFC)?

a) between 40 and 50
b) exactly 12
@)}exactly 10
d) exactly 30
e) Cannot be determined with the given information

”

47Which of the following is correct about this firm?

his firm will stay in this industry in the long run
This firm is operating in a perfectly competitive industry
his firm cannot be a monopoly
If firm chooses to advertise in an effective way, its demand line will become flatter
e) none of the above

5. Bundling is a form of price discrimination because

a) Firm refuses to sell its products separately
b) Customers are aware of firm’s intentions
Customers who purchase the bundle do so because there is no better alternative in the market
@ustomers who purchase the bundle value the components of the bundle at different levels
e) Customers who cannot purchase the bundle are discriminated against

6. A and B are two firms profitably operating in a perfectly competitive industry. B’s scale is bigger than
A’s.

a) If price drops, A’s profit will drop by a bigger amount than B’s profit.
b) As price drops, B will be driven out of the industry before A.

c) B can have some control over its price but A cannot
w ither A nor B has control over the price
B

one of the above
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Numeric Questions:

7. A perfectly competitive market has the industry demand as follows:
P=50,000-6Q

g : : oL
There are one thousand identical firms (call each type A firm), each with the following total cost L
function:

TCa = 20,000+2,500Q° . (GYQ \20 MTAL 44 Dﬂ ﬂ / &(\/ ,/ ./

a) (10 points) What is the equilibrium price? How many units are produced and sold in this industry?

Sop ply = Demand
Demurd = 60,000~ 6Q. = £
Supply ‘?%Q

mco= 5000 Q=P i
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20, 0 00~ (@ =50000 | QLT 4545.46
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¢) (10 points) There are 50 firms entering this market, each type B with the following total cost function:

\0 TCp = 10,00042,500Q7

What is the new market price? Qo;)f)}y = DQN\ GU\J R\\d'(“‘ pht; (‘"” Jv;)
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1= Lo,occw 250002 mMc=5000Q=F mg?”&/)
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8. (16 points) Gabriel wants to invest at least $1,000 each year for the coming 5 years. (First investment —=_.
0 is today and last investment is 5 years from today). Interest rate is 10% per year. He decides to invest

$1,000 today and would like to increase his investment by Sx every year up to his last investment. To be

able to accumulate a total of $10,000 ten years from toddy, what should be x?
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9, Batsam and Jetsam are two investors. Both are presented with an opportunity that has the following
cash flow:
Oy (w\ml/ oSt +27)
Years Cash Flow -

0 -10,000 |}

1 12,000 Differend /

2 e

Lot (m\h ot (6mpur0 !

That is, if you pay $10,000 today, you will receive $12,000 in one year and $4,000 in two years.

Batsam has only $5,000 and can borrow at 5% and lend at 7% in the market. ?\_,__/
) has $10,000 and can b dlend at 6% i th rket
‘ O atsam as J w an canYorrow\a{nTen //::/ in the ma Q ﬂéé/#/y_(‘/
a) (10 pomt hat is the value of th opportunlty to Jetsam and Batsam in today’s dollars? }L@)——
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b) (10 points) If both end up investing on this deal, how much economic pro it will each make in toc?ay s wz\
q’ dollars? (Hint: Please note that, if they need to borrow money, you can assume any possible payment gr 4 7\][77

plan, the payment plan you choose does not affect the answers to above qu stlclgs 1) Zd / Z /3}
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9. Batsam and Jetsam are two investors. Both are presented with an opportunity that has the following

cash flow: l\ J\ + ’>
Years Cash Flow O f) PO( i / (OS * ? 4
0 -10,000
T o | < Diffoent !
2 4,000

L cipeit (empare .
That is, if you pay $10,000 today, you will receive $12,000 in one year and $4,000 in two years.

Batsam has only $5,000 and can borrow at 5% and lend at 7% in the market.
l O Jatsam has $10,000 and can borrow and lend at 6% i m the market
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a) (10 pomtJ Nhat is the value of this opportunity to Jetsam and Batsam in today’s doIIars?

8@*&%@ A_‘SQ& r)‘”‘"y) @dkam /Z'MLUM//@L Jatsam does Opfdbnéf jaf*( ends ;V‘af!@l
~ Bocrowx 5,000 L”'l/( )

en 0 \/eqr |
\QDP‘{ \/C(ll({\b

_ \’ZCDO 4000
/IO OO +('+06> (I+d‘)2

'\%K{O /A Jetsan

5 O
10,000 + 5 PO il
b) (10 points) If both end up investing on this deal, how much economic profit wnll each make in ton?ay ( """‘07>2
dollars? (Hint: Please note that, if they need to borrow money, you can assume any possible payment
q’ plan, the payment plan you choose does not affect the answers to above questions!)
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574 APPENDIX B: COMPOUND INTEREST TABLES
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